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AdidR 9ell 10, 6, 2, ....0ll U&H 16 UElal] 2RI ......... 8.

(A) -320 (B) 320 (C) -352 (D) -400
As AAHid2 AellAi 9 a=-7.2,d=3.6 Al a,=7.2dIn=........... 8.

(A) 1 B) 3 ©) 4 (D) 5
AHiaR Aell 8, 3, -2, .....q n3 UE .......... 8.

(A) -2+3n (B) 5—13n (C) 13-5n (D) 8+3n
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29.

30.

31.

32.

33,

34.

3s.

36.

37.

38.

39.

40.

A AuA1Al 2, 7 2al k + 4 A4idR AellAHi 8. dl k o (B34 ...... 8.

(A) 6 B) 7 ©) 10 (D) 8

As AHidR Aelloll M&H ARl ULl 4410 51 2ial M&H Hal fl UEall ISR 240
8. dl ofldatinigll s3f d AHic Aellell, A1H10Y dsidd 8.

(A) 8 B) 7 ©€) s (D) 4

s AHidR Aellg n3 ue (3n+ 1)B. dl do| 303 VE ...... 8.

(A) 31 (B) 91 (©) 90 (D) 94
2didz Ael V2, \/8, V18,32 oll ueia n UElah 224100 ........... 1.

(A) n(nt+1)/2 (B) 2n(n+1) (©) n(n+1 )/\[2 (D)

A AidR AellAlell HYH n UElsll A4IA6ll RNt 5n+4 @ 9n +6 B. Al d
FeflAloll 1831 UElol JRNTR ... .

(A) 179/321 (B) 178/321 (C) 175/321 (D) 176/321
AHid Fell 1/29, 1-29/29, 1-49/29,... ol A1HIcy dSIdd ........ 8.

(A) —1 B) 1 ©) 9 (D) 29

A5 AHicR Aellof n Ue 2n+1 8. dl doll MYH N YElall AUIN ......... JIUR
(A) n(n-2) (B) n(nt+2) (C) n(ntl) (D) n(n-1)

o k+ 2, 4k — 6, 3k — 2 A sl 4HidR Aellal sAs uel Bl dl k=..........
(A) 1 (B) -1 (C) 9 (D) 29
2did2 Ae V2, \/8, V18.... 103 Ve ......... 1.

(A) V162 (B) V200 (©) V242 (D) /288

1 AHid2 Aellofl AiHiod dsidd 5 e1a d el HIZ ag_a;5=........

(A) 5 (B) 20 ) 25 (D) 30
AHid2 el a, 3a, 5a,...0ll U&H n UEIS] 244N ....... JIDN

(A) na (B) (2n-1)a (C) n’a (D) n’a’

A HHidR FeflAlell AIHIcU dSIdd AHlol 8. < dHoll €4 dIVHI UEld
Adsldd 11222333 g1 dl d¥Holl 100H1 UEloll dSIdd...... 8.

(A) 11222333 (B) 333222111 (C) 222333111 (D) 333111222
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< ol Rl vii & 3 vilel d dvil.
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10.
11.

12.

13.

14.

15.
16.
17,
18.
19.

siguel AdicdR Aeflo HeH UE o of Bl IS,

sl uel Adid Fefl Hi2 AlHIcY dsldd o of Bl U5,

HeH n MISIAS AvARATel 24191 n(n+1)/2 IR,

% S1¢ Aaid2 Aell #i2 Sn=5n’- 3n 8134 dl a, = 10n — 8.

UH n Yo UIS[AS AvAlel] 24100 n” 2.

¥ sig AAHidR Felloll A1HI0y dsidd 21 &l dl d Felloil U8H m UEloll 24410
ol UYH n UElall A1 Adlol Y14 d ASY D .

3,3,3,3,...... A AAHid2 el 8.

8% oll dIf¥s UsY(g €281 A3uIdal] 284 3.10000 HEA &1~ dl €2 U¥ UidIHi Y|
gdl 284 AHicR Aefl .

V2,v8,v18,1/32,.... 3 213iciz A .

H&H n AY2H HIS[AS qvARAI0l 424190 n(nt1) &1,

As AA12E1H1 49 oiciR Helloll 240121 g2 1A B. A1H18] s 82 A UdAe 52A 5 ¥
doll A121Nall &Rl civiRofl 224191 2Aal Uedloll 801l cioiRofl AU Aol 1.
(532011 22526l Aos cuazel Hie Al w1Ai uaifBlofl 24l s41 32 R.C.C.
HIRRUR! AgA5 doll ga doiiegf 50 Hle: B, ueH ualERiof]l G 30 A.Hl. al
uelag 50 A4l 8. Fofl GuILS s(As A 98 . FHi ga 15 ualRu 8.

seofldall As Aelotdi 15 UaABRaI19101] ofisll 24211Rf] &. d UAs dotig 50 Hle 8.
al d oiss? sifsed] clallddd. 25 ualRuIofl GuieS V4 e dal ualaig 1 HleR 8.
Al 22111 Glollgdl A S2d Boisn sifkeof] 93 usl ?

As Alslall A s@As a1 YRAg] 2idR 25 A.H]. & A1 oflRAatl Y21[&R1I0fl ciolief 45
A4l B. 2al AsaRl geisl 419 Alefl Gureall walllddl doig 25 A.4]. 8. el
BuRall 20l A1efl oflRAall Y21 U o] 2idR 2 ¥ Hleeld dl uaifBiHi duRiRd §d
dissiol coflg ne.

AHidR FellHi a,=4, d=2, s,= -14 241Ud &1 dl n 2ial a N4.

AHidR Ay a=5, d=3, a,= 50 A0d &1 d) n al s, ANE.

AHIdR AeflHi a=7, a5 = 35 ANA &1 dl d 2ial s, NN,

AHid2 AeNai a,,=37, d=3, 2A10d 81 dl a 2dl s, Mel.

AHid2 AeHi a,=15, s,, =125 AN 614 dl d 24al a4 NE.
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20.
21.
22,
23.
24.
25.
26.
27,
28.
29.
30.

AHidR AelHi d=5, s,= 75 AUd &1 dl a 2 ag A€,
AHid2 el a=2, d=8, s,= 90 AIUd &1) dl n dl a, AEl.
AHid2 el a=8, a=62, s,=210 A{1Ud n 81 dl d 24d 2N,
AHid2 Aellai a=3, n=8, s,=192 A41Ud 813 dI n 2ial d 2NE.
AHidR Aell 9, 17, 25,...011 52d1 UE A44191] 636 I ?
7+10 %+ 14 + ... + 840l 22410 N,

34 + 32+ 30 + ..... + 100l 244101 QN Y.

(=5) +(-8) + (=11) + ..... +(-230)

6 43 ([Aei19R MUH 40 gol YRIfslall 2024101 QNEl.

8ol M&H 15 JfBIdlall 244101 QN €.

0 Aol 50 YAl 2AY2H YeIisleil A 1011 QNEl.
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o g e g =

w o=

o)

uiid] w21 yzl.

IR 1)) [F——— 8. (AS3u, AH3U)

T[T 8. (AH3U,AS3U)

1 3] —— [Bislen A3 8.

AABC~ADEF 2AB =DE. % BC=8 cm &3 dl EF = cm.

A ABCHi LA ofl [2c11%s BCal D i 88 &. 9 AB= 6cm, AC=5cm=ad BD

=3 cm &l dl BC = A

A A4H3U [isiell ABC 1ol DEF oll 82150 2ojsd 144 Ad1? 81 Jd1? 8. %1 [isle

ABCofl 2H1ell H1E] cligop Hu 36 A3l el ) (Bisiel DEF ofl A1efl H1E] aliggof #iu
g1,

[Fisiel ABC sl £ZB =90° a1 AC =73 3l 216 BC = 55 3l &ly dl
AB= cm.

[Pisiel ABC 41 [Gig P 219l Q AojsH AB 2ial AC alifGig2d] 8, a2l PQ || BC a1 AP=5
cm, PB=12cm 21 AQ=8 cm 813 dl AC= cm.

€25 UHoll S AGE AVAI AYY] YISAAI ¥dI6] I,

12 ] Gul As RRIdA Yieidial usoRlld] dollef 8 Hl &, d¥ 24HA AS 21Ul
yseoRildl dollg vodl &, e1g4] Guig A€l.

s Aol [Aseiof] doilg 7v2 Al . M2210) Aoisn e,

A QA o1y 14 AHGIY BiSIRlg) Aoisn Sed AR 2

[Bsiel ABC d1 AB =11 3], BC=60 A1 21a CA=61 23] 811, dl [Bisiel ABC ol
YsiR slid).

[BIsiel ABC 31 AD #Hexdll 8, o1 AB=6 331 AC=8 33| 21d AD =53] 813 dl
BC €.

ST
A3 ofgsiel.
A33Y [Bsien.
Axsiells [Fisien.
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oflRdall [A€iicll ViR 3 vii2l duil.
BIsiel ABC #i AB =5 331, BC=12 3] 21  AC=15 3] 8ly, a1 [isiel ABC
3slel [isiel 8.

As ddnell A DUIRA] el ANl Vigoil CiIR1HI1 0 [GIgH! BE & ) % = g—g .

AABC #i £B = 90°AB=8 33/l 21a BC=15 A1 2412l A ABCofl uRMIA 40 32
1.
Al AH3U [BisILlell A21500f] 2RNTR dHoll AU GliyAlall JRNdR F2d] &l 8.

As AM2oll oiigg 10 el B. A dotl Rl dotig 10V3 Aal 2.
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= ®m N3
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e

u 214 ¢4f¥la )

2Nl [Qeiell A1 oial d Fd viied] @221 Y1 (1 lell s U YoIl )

[Gig21 (2,3) ial (5,2) Uo] AAR uvrvrnnaannn. 8.

[Gig (—5,7) of GAHIGIE] 2idR ... 8.

[Gig (-4,9) o y 2121l doiAdR. e, 8.

A (0,0) B (0, 0) 213 C (5,0 ) 8.A1 BC =.ooreenr....

(4,0) (7,0) 219l (8,0) RRAGIEN eRidd [RAiSIIg) AASOA............. ALASH Y1,
[GigA (—5,8) ial (—2,-6) UAd] VAR verevrrnrnnnnn. 8.

(3,2) (7,5) 214 (2,1) RRACIgA eRIudl [BisIClg HEUSG........... 8.

[GigA A(2,3) B (4,K) 219l C(6,-3) A 813 dl K=............. JICR

[GigA A(4,-1) B (-2,-3) ol ISl Ruilvisg] 1:2 deNcR#i [AeiiYal 5 [Cig ...........
AU B,
(0,4) (0,0) 2ial (3,0) RRIGIEA aR1adI BisIIo] UR(d............. AsH Y.

o1l [Aaiall viRl B % vilel d wendl. (el 1)

[Gig (—5,12) of GaAH[GIE 2icdR —13 B,

[GigA A (5,2) B (-7,2) 210l C (6,3) 22 B.

[Gig P (-4,2) 1 A(-4,6) 2ol (—4,-6) ol Scll UiIUiS U] [Cig 8.
1l AABC of 22150 Jo? &1 dl [Gigi] A,B 2ial C A4Hu Y.
%l AB+BC > AC dl A,B ial C 24142ui [Cig] &1,

1 A=B d 2idl dl % d (A,B) =0 &,

[GigA A(8,-3) B (-3,5) ol ¥iscll RuiIviSe] HERU(GIE (5,4) 8.
RigaN (2,3) 21al (4,1) 4Ad] 2id2 2v/2 B.

Bora[Gigoall A1H (0,0) &1 B.

siesiel [Bisiel of URSog selo] Hex(Cig &R,
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10.

11.

u [Fisieif@(cell ulRA )

0<0<90 2 8 ol (53 0 &l Yellal 90 S ¥ AH vevvvnenenennen ol (BHd 48 8.
(A) cos® (B) cotB (C) cosecH (D) sin®
; . _ asin® —b cos6
% 0 dgsiile] HIU 812 24al bsin® = a cos6, dl — e e
(A) a’+b’ (B) a’—b’
a’—b’ a’ + b’
(C) a+b (D) a-b
a-b at+b
sin®35+ cos?8 =183, d10=.............
(A) 20 (B) s5 (©) 70 (D) 35
8l A 2ial B sifesiel el di sinA:- sinB=...............
(A) -1 (B) 0 (€)1 (D) 2
cosec*f —cot*f
cosecZ @ +cotz @ Tt
(A) 1 B) 2 (C) cosec? 8 + cot? 8 (D) o
tana=1,dla = .............
(A) o (B) 45 (©) 30 (D) 60
cos 50 sin15
Sin 40 COS 75 T sessssssssssssss
(A) o (B) 1 ©) 2 D) 3
cosA=4sin Adltan A= ....o........ .
A) 1 (B) 5 (OR (D) 4
4 4 g
cos (90—A) sin (90—A) . .
RS0 o RAIE Y wosmuavunans 8.
(A) sin? A (B) cos? A (C) Sin A (D) 1
2sin?30 *cot30-3cos>605ec’30=..oevurrrnnnn
(A) V3-1 B) V3-2 ©) o (D) |
2 Z
cot® 0= 1o5ec® B = oo J(0 %2 8 = 90)
(A) 0 B) 1 ©) -1 (D) «
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12.

13.

14.

15.

19.
20.
21.

22.

23.

24.

23.
26.

% tan70 -+ tan30 =1 &, dl 0 of Y& ......... 8.
B) 9 (C) 18 D) 0

(A) 10

% x = a cosecl »ia y = bcotf &, dl b?x? — a’y? =

(A) ab

A 6O va (20 - 45) dgslel 8y ia sinf = cos (20 —45) el,dl tan 6

oooooooooooo

(A) Sin60° 24l cos30°
(C) Sin 45° via tan °©

"

(B) a? — b2 (€) a®b? (D) a® + b?

B) 3 (C) -1 (D)

ol HERA Aol B.
(B) Sin60° 2idl cos®

Qe 213 cidl d Y¥ol viid] 241 ygi.

dHId BisleIf@ (A oeldRlell 45° YRl Uldoll 3ol 24101 =

(sin70° + c0s20°) (c0s20°—sin70°) = ..ceeuvvennnennn.

& m
" Q
B
A M N
2-secB - cOSO=...cccenininni.
gin B' = €08 (90— @)= .onsansivansss
Sin’(3x + 30) + cos®(2x +45) =1 81, Al X = ...cvcvncces
cosf = 11—75 81, dl cosec € + cot B o Y ........... 8.
B A+BY _
% A+B+C=180 &1, dl tan(T) = e :
tan’@ — sec?6 = ..............(0 < 8<90)
(1+tan’0 )(1 — cos?0), N B = ...............
Ftan’f = sin® @ + cos? B A O=.......

30

I

(D) Sin45° 244l cosec 45°

- 2uN0d @yl LYAX exfda 8. AY urell [Biga p 1dl o Hie AX Urell dofule
ojsH M 2ol N 8. % APMA#MI sinA of 3c ;1 glJ dl AQNAHI SinA=............



27,

28.

o sec4A = cosec (A —20) , i 4 A dl cosec (A-20), i 4A A dgslelg

HIU 8, dl Adl (SAHd ........... 8.
RAtan = =, 175108 0 B ...
3 1+siné

% dgslel 6 iz cos @ = sin 6 e,

AABC a12 sin(%) T

[Qgiol vizl B 3 vilei d wendi :

. sec’d — tan20 = -1

8 diudial sl vl Hi2 sinfd = %
cosQ
1—cos? @
tanBof 3 EARAT 1 S| dg Bl B,

cot® =

4
cot 5 cot 30 X 4cot85 = —

V3

cot? B+ 1 = cose?p

. tan? B + tan* B = tan®p

sec?6 — 1+ tan?6 = —1

© % 6 dgsiele Hu 81 el V3sina = cosa, A a = 60

+ AABCHI mz£ABC = 90,mz£ACB = 45 d1 AABCqj 257 = 36

Yissi Msl.
GICIEN GICIERI
1. cos (90 — 0) a. sec 6
2.cot (90 - 0) b. sin 6
3. cosec (90 - 0) c. 1
d.tan 6
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42.

43.

GICIEN GICIEIRI

1. Sin 60 a. 2c0s°30 — 1
2.cos 90 b. cos20 + cosec28
3. cos 60 ¢. 2sin30co0s30

4. sin 70 + sec 62

d. 2sin30co0s30

GICIE| GISTETRI

1. sinf a. —sin?0

2. cosf b. —cot?0

3. 1-cosec?0 c. V1 — cos26
4.cos%6—1 d. V1 —sin%0
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G [Bisiei@fcell Buaiol )

5 122 Gl ofl2Rel Elaid A419 2sAd] 8. d [Edida efiad(hAel] 4 Heedl GuigA

AsE 8. dl Eldidall cfiud(def] ofl2el ......... Hl. €2 82.
(A) 3ale: (B) 4 a1e2 (C) 5alle: (D) 6 ale?
15AHi tanB = .........
A
12 13
m Q
B 5 C
(A) 12/5 B) 5/13 (€) 12/3 D) 5/12
AHIS[AHI P 240l Q AgisA ¢f £211A & d w9,
0
P
Q
(A) GcAuslel, sleslel (B) agsiel, Sldx(sel
(C) slefs:el, BAusIe (D) afax(sel, AuAusi0l

Aol GAusIClg HIu 60°Yl ©lla 30° &di, dl AHdd ¥la U2 GAld 2ldRall
useRlell AHIgHi ............ YR,
(A) qanR) (B) gais)

(C) %812 a8l (D) s¢f s8] qusi aigl

Ivy| A1,
219AY sl
%[t2 2|
BAY sIel
[B1(c1% 2|
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oo e e

O 3odld adaofl clgRRall [Cig Paiell €ikc 2usisl PA 2ial PB 93l ujRllg) HIY 80°
8lJ dl LPOA=..............
O 3odld admoll [Cig PHigll eRd 2usls PQ 8. a1 AOPQ kel [isiel gy dl

- Ageslel ABCD s ddaa uRaid 8. % AB=7.2 3.3, BC=8.5 A.3{]. 210l DA=6.9

A.Hl. 8la dl CD=............... A.41.

of1A 21 [Ascuidigd] 2141 [Ascu yzie s3] wdid duil.

5 A.d. BieRidinl ddaeil sie [Gig P 2419101 €RA As 2ugls PQ, Sog OHiell UAR
adl2uiia Q [Gigy B2 8. 0Q=12 A.H]. &1d dl PQdfl dolle = .................

(A) 123, (B) 133.3. (©) 8.5A.4l. (D) {/1193.:0.

[Gig Quiell eRdl admall 2utisd] dallgf 24 A.]. 2ia admoll Zogell dof 2idR 25
A.4l. elu dl adadll B ............... 8.

(A) 73.4. B) 123.4. ©) 15a.4. (D) 24.53.41.

o TP 2id TQ A O Zogdinl ddaol £ POR =110° oial A4l 2ugisl £PTQ

(A) 60 (B) 70 (©) 80 (D) 90
O 30g4i0 ddanal [Gig P Higll €RdI 2usisl PA 2ial PB 4923 80 ofl uell 14Id] &l

(A) 50° (B) 60° (€) 70° (D) s0°
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10.

11.

12.

13.

*
*,*

e L

O 3odld ddmeil 2ugls PQ o 2uRifcig Q 8. d¥l QR A ddaell @i 8. o
£ZPOR=120 &l dl ZOPQ~=...............

(A) 60° (B) 45° (©) 30° (D) 90°

l1%gofl 2A15(AHiI RQ A0 Sodld ddmall 2ugls &. a1 SQ=6 A1, 2al QR = 431 dl

(A) 8 (B) 3 (C) 2.5 (D) 5
olioll A15(cHi AB =12 3. BC =8 Al 2al AC =103 Il AD = 3]
(A) 5 (B) 4 (C€) 6 (D) 7

O 30 24a 9 A.Hl. BRidinl ddadll cigRell eilo1Hi 8d (g A Hiell ERal 2usls)
AP ial AQ ddcal P dal Q [GigA 2ugl 8. o OA = 15 A.4l.d1 AP+AQ = ................
3.1,

(A) 12 (B) 18 (C) 24 (D) 36

A BieRiiginl ddaa eRdl A 2ugls] dJofl Yell 60°61) dl €28 ulisd daoilg
................. 3] el

(A) 3V3/2 (B) 6 ©) 3 (D) 3vs3

A ABC #i £B=90°,BC =12 33l 210 AB =533 8. dl A ABC ol 2id : gddl

(A) 4 (B) 3 (C) 2 (D) 1

% S1g ddaofl A [FiaRiRA 9 yel 130° ol 8l dl d A [FRIIRAlell AcA(CIgA
elRdl A 2ugis] dRJall yell ............. oll &l

(A) 90° (B) 50° (©) 70° (D) 40°

¥ A AHZold adalofl Bieal 17 A1 2101 15 Al &. dl Hlel adadfl sigf el vul <
allotl ddmofl 2ugls &1 dofl doligf ............. A1 el

(A) 8 (B) 12 (C) 16 (D) 20

O 3odld ddn €RdAl A 2ugisl AP Hal AQ URWR ol 8. Aol €35 2uRisdl dally 5
A4l 8. dl d adadl Bl ............ A1, i,

(A) 10 (B) 7.5 (©) 5 (D) 2.5

oflAel] carvAIBA dvil.

adaed ®a 2. 4qdadl 8fEs|

qdaeil 2usls 4. qdaoll 2usise] 2usifGig

Al1HIoY 2URlS 6. g A1HI0Y 2ugls

AidRs AlHIoY 2ugls 8. [slvigf 2id:gd d&l id: [P
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oflJatl [Qeioll viRi B 3 vilei d duil. (1 3)@1)

D A.4]. A griag s US As uRkaHeii 2nd A.4]. 2iaR sid.
% A yel-Yel ddAlall A Ydigloll AN AHIol R A Ydiilal Aoj3U Uivofl doile
Al Gl .
0 uRNdINIgdiRig] 250 l%xnrzéa.
dgAuIoll collef + 23yl colief = ulRe
A1 [Ascu yzie s3 wdiol 21ul.
AIS[AHI AZE Iall 01191 2lall [01€21 52 & ? //" D
(A) dg gdial (B) 2> gdial
(C©) gavis D) dgu
28 A.Hl. Bl ddmall 248 ugaial civiofl Al dolig=............
(A) 141 (B) 28w (C) 7t (D) 3em
r (BoR11 1o Hal 1 dofigfoil UYL Glaidl YdiRie] Aoign=
(A) mr?9 B) 1 ©) L, (D) mr?9
—uiRIxdg 2
360 2 180
a5l (Afoie si2l 15 (#AlcieHi Sedl vigiall vl AHidR = ..........
(A) 15 (B) 45 (©) s0 (D) 90
vid] a1 yRl.
As adaefl BiaRil val DAl 2] B, dl 241 Dol ARUCIE Sog AHI2A......H Yol
yel AHid? 8.
o adael]l (BiRuidi 10% ofl delR]l sAIHI 419 dl S28a.....% U8,

AIS[AHI MSICloll Sog 1210 Gaidl YRN=..... /V\
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21950 Vol EloisnN )

oflJatl [Qeiell viRi B3 vilei d wendl. (3 1 1)
4sAUIEle] 250 2nrh &,
1 Jal.caurt 2401 8 A done erigdl 2A(ANu1d] eloisa 21 e’ B,

g 1
ANISRY Eols) —mr'h B.

AN Nlof] as2uIdle] Arisnzm’ B.

oig [Ascy u4l. (3 1 1)

aAMaefl asAUIlg] Ag.......... &.

(A) 2nrh B) om’ ©) am® (D) %’m‘zh
r=2.5,h=10 3 ISRy "oig.......... 8.

(A) 196.25 31° (B) 269.5 Al° (C) 1243° (D) 19831’
GlRu1g 3.5 A.41. 2Hal 6 A uRIIofl BRiIgin] Rigg] Eaiga.......... 8.

(A) 28831° (B) 269.5 A’ (C) 2874 A:1° (D) 298 A’
1.5 A BRI 2NAlg YaiSA ............... 8.

(A) 4.53° B) 9.5 AA°  (C) 4.99° (D) 2.83:°
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AHISSIAIR

3| )

[Ascul uzie s3] wdiol duil. (1 2lell s MH YoI2l )

HERS = 25 al GigHS = 25 dl HERIRY =

(A) 25 (B) o () 1 (D) 75
Uadl sHHI 2N16Ad| AUd]Sal 6, 7,X-2,X,17 2ial 20 ofl HEURY 16 81 d) x=
(A) 15 (B) 16 (C) 17 (D) 18
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qaR oial & dl ydvisHi &d [AuellAel 24va1 NE.

(44



ﬂ [Bisiel )

0 ABCD 4¥dol Agssiel 8. ¥Hi AB||CD M € AD »ia N € BC 3 %€l

TANINAR AM BN
MN||AB. A1[cid $1 % 5 = e

A ABCHi D 210l E 210js8 BC 1ol AC ofl HE [Gigd] 8, AD 2ol BE o BElCig G
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oi3u d ol &l 2/3 a1ell cliydial (Bisiele] 2l 2.

5 A1, 6 A 210 7 A sl [Bislelof] el 52A el ued] ofl% [Fisiel U Fof]
o1 MH (Bislelofl 2Acj3u d a1yl sdi 7/5 el &l.
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